
 

If  𝐟(𝐱) = ∑
𝐤

𝟐𝐤+𝐞𝟐
𝐱
𝐤=𝟎     Prove that 

                                                                                                                 

∫ 𝐟(𝟏 − 𝐱)𝐝𝐱 =
𝟏

𝟒
−

𝐞𝟐

𝟒
(𝐥𝐨𝐠 (

𝐞𝟐

𝟐
+ 𝟏) − 𝛙(𝟎) (

𝐞𝟐

𝟐
+ 𝟏))

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Amin Hajiyev-Azerbaijan 
  

𝐟(𝐱) = ∑
𝐤

𝟐𝐤 + 𝐞𝟐
=

𝟏

𝟐

𝐱

𝐤=𝟎
∑

𝐤 +
𝐞𝟐

𝟐
−

𝐞𝟐

𝟐

𝐤 +
𝐞𝟐

𝟐

=
𝟏

𝟐

𝐱

𝐤=𝟎
(∑ (𝟏 −

−
𝐞𝟐

𝟐

𝐤 +
𝐞𝟐

𝟐

)) =
𝟏

𝟐

𝐱

𝐤=𝟎
(𝐱 + 𝟏 −

𝐞𝟐

𝟐
∑

𝟏

𝐤 +
𝐞𝟐

𝟐

) =
𝐱

𝐤=𝟎
 

=
𝟏

𝟐
(𝐱 + 𝟏 −

𝐞𝟐

𝟐
(𝛙 (𝐱 +

𝐞𝟐

𝟐
+ 𝟏) − 𝛙 (

𝐞𝟐

𝟐
))

=
𝟏

𝟐
(𝐱 + 𝟏 −

𝐞𝟐

𝟐
(𝛙 (𝐱 +

𝐞𝟐

𝟐
+ 𝟏) − 𝛙 (

𝐞𝟐

𝟐
+ 𝟏) + +

𝐞𝟐

𝟐
)

=
𝟏

𝟐
(𝐱 −

𝐞𝟐

𝟐
𝛙 (𝐱 +

𝐞𝟐

𝟐
+ 𝟏) + 𝛙 (

𝐞𝟐

𝟐
+ 𝟏) +

𝐞𝟐

𝟐
 

𝛀 = ∫ 𝐟(𝟏 − 𝐱)𝐝𝐱 = |𝟏 − 𝐱 = 𝐱| = ∫ 𝐟(𝐱)𝐝𝐱 =
𝟏

𝟐

𝟏

𝟎

𝟏

𝟎

∫ 𝐱𝐝𝐱 −
𝐞𝟐

𝟒

𝟏

𝟎

∫ 𝛙 (𝐱 +
𝐞𝟐

𝟐
+ 𝟏) 𝐝𝐱 +

𝟏

𝟎

 

+
𝐞𝟐

𝟐
𝛙 (

𝐞𝟐

𝟐
+ 𝟏) ∫ 𝐝𝐱 =

𝟏

𝟒
−

𝐞𝟐

𝟒
[𝐥𝐨𝐠𝚪(𝐱 +

𝐞𝟐

𝟐
+ 𝟏)]

𝟏
𝟎

𝟏

𝟎

+
𝐞𝟐

𝟐
𝛙 (

𝐞𝟐

𝟐
+ 𝟏)

=
𝟏

𝟒
− 𝐥𝐨𝐠 (

𝚪 (𝟐 +
𝐞𝟐

𝟐
)

𝚪 (𝟏 +
𝐞𝟐

𝟐
)

) +
𝐞𝟐𝛙 (

𝐞𝟐

𝟐
+ 𝟏)

𝟒
 

 

Notes:  𝛙(𝐱 + 𝐧 + 𝟏) − 𝛙(𝐱) = ∑
𝐤

𝐤+𝐱
;   𝛙(𝐱 + 𝟏) − 𝛙(𝐱) =

𝟏

𝐱

𝐱
𝐤=𝟎  

answer:  ∫ 𝐟(𝟏 − 𝐱)𝐝𝐱 =
𝟏

𝟒
−

𝐞𝟐

𝟒
(𝐥𝐨𝐠 (

𝐞𝟐

𝟐
+ 𝟏) −

𝐞𝟐

𝟒
𝛙 (

𝐞𝟐

𝟐
+ 𝟏))

𝟏

𝟎
 

 


